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https://www.100test.com/kao_ti2020/142/2021 2022 ccna_E4 B8
AD E6 96 87 c101 142086.htm encryption your passwords []
enablesecret] O OO ,00000000O0O O sh running-c
router#sh run (O ) ! enable secret jhdflkdfg$#sdf enable password
123/ (0) 000000 O0:000000000 O service
password-encrypti bannersbannerld O O O ,0 0 0O .00 O O

[J motd(message oftheday), l D OO0 00 O00O,0000dod
O 000 motdd O O,0 O : router(c motd # the router is mine #
router(c router#exit router c is now available press return to get
started the router is mine router> [ [ [0 301 banner: 1.exec banner
2.incoming banner 3.login banner router interfaces [ [ router(] [
0,00 00000 O :interface type numberd O 0,0 O
router(c ethernet 0 [J [J ciscol] 2600,3600,40000] 700001 OO OO OJ I
Jo0odobodoooooonD.od,dodon interface
type slot/port,] [ : router(c fastethernet 0 % imcomplete command
router(c fastethernet 0? / router(c fastethernet 0/? fastethernet
Interface number router(c fastethernet0/1 0 0 0 OO0 0O O O 0O O,
O Omedia-type O, 0000000000 O,H0: router(c fa
0/0 router(c ? 100basex use rj45 for -tx. sc fO for fx mii use mii ¢ bring
upaninterface 0 0 0O 0O 010 0O O,0 O O O shutdownd no
shutdown O ,0 00000 OO0 O O,O 0O shinterfacestd [
JO000000o0,00000obOod: router#shint e
ethernet0 is administratively down,line protocol is down (LJ ) O O
OO000,000000000,00: router#c t router(c e0



router(c shut router(c router#sh int e0 ethernet is up,line protocol is
up () canipaddressonaninterface U O O O O O O ipd O, O
[1 ip address [address] [mask]] I ,00 O : router(c e0 router(c
address 172.16.10.2 255.255.255.0 O OO OO J O O O : router(c shut
router(c 000001000000 OD0OO0OOOO,O000
[ sec router(c e0 router(c address 172.16.20.2 255.255.255.0 sec
router(c O O O O : router#sh run (O ) ! interface ethernet0 ip
address 172.16.20.2 255.255.255.0 sec ip address 172.16.10.2
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